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(9 marks)
Notes
(a)

B1: Uses t =0, =80 to deduce the correct value for 4

M1: Uses the given equation for the model and ¢ =40, € =33 and correct log work to establish a
value for k&

A1l: Correct value for & (exact or awrt 0.0398)

Al: Correct equation (allow exact k or awrt 0.0398)

(b)

M1: Uses the model with their values to find the temperature after 20 minutes

Alft: Compares their value with 48 and makes a correct interpretation

Alt:

M1: Uses the model with their values to find # when 6 = 48

Alft: Compares their value with 20 and makes a correct interpretation

(c)

B1ft: Deduces the correct derivative. Follow through their values.

M1: Substitutes # = 20 into an expression of the form e ™ to establish the required rate.

Al: Correct rate including units




